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TB(2B) Ch. 8 Laws of Integral Indices 

Multiple Choice Questions 

1. [13-14 S.Test 2 #2] 

   Solve  
16

1
24 x  for x. 

A. – 6         
B. – 2  
C. 2                     
D. 4 

 

2. [13-14 S.Test 2 #6] 

  Simplify 91a 3a1 . 
 

A. a127                
B. a339    
C. a313           
D. a223 

 
 

 

3. [13-14 S.Test 2 #7] 

Which of the following has/have the same value as 4(28  24  20 ) ? 
I.  1000100012 

II.  44416

 III. 109210 

 
A. III only 
B. II and III only 
C. I and II only 
D. I and III only 

 
4. [13-14 S.6 Mock Exam #7] 
 Convert 110010x0y12 into denary number. 

 A. 801 + 8x + 2y 

 B. 407 + 8x + 2y 

 C. 1602 + 16x + 4y 
 D. 417 + 16x + 4y 
5. [13-14 Final Exam #13] 

 

a

aa

4

916 52

 

 
 A. a106     B. a206  
 C. aa 106 32    D. aa 108 32   
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6. [13-14 Final Exam #19] 

  268 24223  
 

A. 101000100(2)  .  
B. 1101010000(2)  . 
C. 1101000100(2)  .  
D. 1101010100(2)  . 

 
7. [13-14 S.6 Mock Exam #2] 

 Simplify 
21

2

44

3

ab

ba














. 

 A. 
72

1

1

ba

 

 B. 
7

2

1

b

a
 

 C. 
9

2

1

b

a
 

 D. 
92

1

1

ba

 

 
8. [13-14 S.6 Mock Exam #7] 
 Convert 110010x0y12 into denary number. 

  

 A. 801 + 8x + 2y 

 B. 407 + 8x + 2y 

 C. 1602 + 16x + 4y 

 D. 417 + 16x + 4y   

 
9. [14-15 Standardized Test #3] 

11110 – 1112  =   

  
A.  0.  B.  6816.   

C.  6810.  D. 11010012.     
 
10. [14-15 Standardized Test #6] 

       
23202 5255 aaa     

 

A.  
2

53a

.  B.  
4

53a

.  

C.  
2

252a

. D. 
4

252a

.    
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11. [14-15 S.6 Mock Exam #1] 

 



pppp

pppp

432

)432( 2

 

 A. 24 . 

 B. 
6

25 2p
. 

 C. 
2

24

p
. 

 D. 
26

25

p
. 

 
12. [14-15 S.6 Mock Exam #32] 
 11010110112 = 
 
 A. 3  29 + 5  25 + 11. 
 B. 3  28 + 5  24 + 5. 
 C. 13  27 + 25 + 5  22  1. 
 D. 13  26 + 24 + 11.    
 
13. [14-15 Final Exam #5] 

Arrange the followings in ascending order. 
 
I.  1110012 
II. 3A16 

III. 5610 

 
A.  I < II < III  B.  II < III < I  

C.  III < I < II  D.  III < II < I     
 

 
14. [14-15 Final Exam #16] 

Calculate 20172015 1018.3104.35   and express the answer in scientific notation. 
 

A.  201510222.3   
B.  201710222.3   

C.  201510826.2   
D.   201710826.2   

 
15. [15-16 Final Exam #4] 

Calculate 20152016 1050103.8   and express the answer in scientific notation. 
 

A. 20161017.4   
B. 2015103.3    

C. 20151033  
D. 2016103.3    
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16. [15-16 Final Exam #11] 
B000000F0001416 = 

 
A.  1416151611 512  .  
B.  2016151611 512  .  

C.  01512 16416116141611  . 

D.  12613 16416116141611  . 

 
17. [15-16 S.6 Mock Exam #1] 

 
 


4

23

3

3

a

a
 

 
 A. 2a2. 
 B. 2a. 
 C. 3a2.  
 D. 3a. 
 
18. [15-16 S.6 Mock Exam #32] 
 22  2x+2 – 2x – 2 = 
 
 A.  30x – 2. 
 B.  2x + 4. 
 C.  16. 

D.   15(2x) – 2.  

 
19. [16-17 S.6 Mock Exam #33] 
 A5000BEEF009716 =  

A. 165 × 1612 + 48879 × 165 + 97. 

B. 181 × 1612 + 53248 × 165 + 97. 

C. 165 × 1611 + 48879 × 164 + 151.  

D. 181 × 1611 + 53248 × 164 + 151. 

 
20. [16-17 S.6 Mock Exam #1] 

 
2017

20161
27

9
    
 

 

 

A. 
2014

1

3
 . 

B. 
2015

1

9
 . 

C. 20143 .  

D. 20159 .  
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21. [15-16 Standardized Test #5] 

Convert the decimal number 72222 671213   to a binary number. 

 

A. 21111100011000  

B. 20111100011000  

C. 201111100001100  

D. 201101100001100  

 
22. [15-16 Standardized Test #4] 

Simplify 
322

1032

)(

)(




ba

cba
. 

A. 
3

6

b

a
 

B. 
4

3

a

b
 

C. 
34

1

ba
 

D. 
cba 36

1
  

 
23. [15-16 Standardized Test #9] 
 








n

nn

2

21

3

33
 

 
A. 4. 

B. 13 n . 

C. 141  n . 

D. 234  n . 

 
24. [15-16 Final Exam #4] 

Calculate 20152016 1050103.8   and express the answer in scientific notation. 
 

A. 20161017.4   
B. 2015103.3    

C.  20151033  
D.  2016103.3    
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25. [15-16 Final Exam #11] 
B000000F0001416 = 
A.  1416151611 512  .  
B.  2016151611 512  .  

C.  01512 16416116141611  . 

D.  12613 16416116141611  . 

 
26. [16-17 Standardized Test #6] 
(2m3)3 = 

 A. 9

6

m
.  

 B. 9

6

m
 . 

   C. 98

1

m
 . 

 D. 9

8

m
 . 

 
27. [16-17 Standardized Test #7] 

1

1

9

27




n

n

 =  

  A. 3n5.   
  B. 3n2. 
    C. 3n1. 

  D. 
1

3 1





n

n

. 

 
28. [16-17 Standardized Test #8] 

 
555

4

1






 (2)1112 = 

 A.  4 .  
 B. 4. 
   C.  0.51667. 
 D. 0.51667. 
 
29. [16-17 Mid-Year Exam #5] 

 Simplify
42

86

8

24

ba

ba
. 

A. 16a3b2 

B. 16a4b4 

C. 3a3b2 

D. 3a4b4 
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30. [16-17 Final Exam #5] 
ba 93  = 

 A. ab27 . 
 B. ba27 . 
 C. ab23 . 
 D. ba 23  . 
 
31. [16-17 Final Exam, #20] 
 It is given that x is a numeral in the hexadecimal system which satisfies the 

equation 10216 940101023 x . Find the numeral x.   

 A.   8   
 B.   9 
 C.   A  
 D.   B 
 
32. [17-18 S test 2 #2] 

 Simplify 
2 1 1

3

3 27

9

n n

n

 
. 

 

 A. 23  B. 23 n  

 C. 23n  D. 9 n   
 

33. [17-18 S test 2 #3] 
 Solve the equation 632765 x . 

 

 A. x = −7 B. x = −3 

 C. x = 3 D. x = 7 
 

34. [17-18 S test 2 #4] 
 BAD00000066616 =  

 

 A. 11 10 911 16 10 16 13 16 1638       

 B. 11 10 912 16 11 16 14 16 1638       

 C. 12 11 1011 16 10 16 13 16 26208       

 D. 12 11 1012 16 11 16 14 16 26208       
 

35. [17-18 S test 2 #6] 
 Evaluate 20182017 1084.2105.6   and give your answer in scientific notation. 

 

 A. 201710216.6   

 B. 201810846.1   

 C. 20181019.2   

 D. 20181066.3   
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36. [17-18 Final Exam #5] 


333

666

4

8
 

 

A. 3332 . 

B. 6662 . 

C. 3334 . 

D. 6664 . 
 
37. [17-18 Final Exam #18] 

 25616816111613163 28911  
 

A. 30EC0000900016. 
B. 30EC0000090016. 
C. 30DB0000090016. 
D. 30DB0000900016. 

 

~ End ~ 
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